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Topic:- General Knowledge

1) The Disaster Management Institute (DMI) was set up in the year by the
Government of Madhya Pradesh. /

A USA AR GRIAY ___ H 3UST Yo IR (SITH3ITS) B TITIAT 1 718 |
1. 1987
2.1972
3. 1956
4.1982

Correct Answer :-

- 1987

2) Name the city in Madhya Pradesh where the Dhrupad Samaroh is held annually. /
AW &b I WX BT -TH 1S 81 YD T8 UG THRIE BT TSI foaT Sram 82
1. Ujjain / S50

2. Bhopal / T

3. Jabalpur / SI§CTYR
4. Indore / 33 X

Correct Answer :-

« Bhopal / T

3) Name the UNESCO World Heritage site built to commemorate the Golden Jubilee of Queen Victoria. /
I faeeifvan 1 waffa st w9 og i frg T g & fay favmaa wu@ &1 9 sang)

1. Gateway of India / TIed 3w g%m

2. Victoria Memorial / faaeIfRar daiad

3. India Gate / g%m e

4. Chhatrapati Shivaji Maharaj Terminus / BAfd FRrarsh AgR i

Correct Answer :-

« Chhatrapati Shivaji Maharaj Terminus / EEPIGAECISIRRRNE e

4) Name the first wildlife reserve in India to get an Official mascot. /



SMUBTRD JUBT UTW B aTat URA & UYH =Ieilg ¥old oI A1 Ja13¢|
1. Ranthambore National Park / TUIJHR TI'@H 3

2. Corbett National Park / ®Iec Tl'@'q REIE]

3. Kanha Tiger Reserve/ PIgI CIFTR ford

4. Sariska National Park / JTR¥bT T@'q 3l

Correct Answer :-

» Kanha Tiger Reserve/ hI-gI CIFTR frord

5) Name the scheme launched in 2018 by Madhya Pradesh Government to subsidize power for labourers and poor
families. /

wm%ﬁﬁmm&mﬁwm%ﬁ%ﬂnwmwmzmsﬁ'waﬂnﬁ!ﬂwmm
T R?

1. Mukhyamantri Khet Teerth Yojana / H@Fﬁl—?ﬁ Qd ot AT

2. Sambal Yojana / EENESEI

3. Krishi Rin Samadhan Yojana / ?ﬁf U JHTYT o1

4. Pradhan Mantri Krishi Sinchayee Yojana / TYTTEAT Tﬁf ﬁﬁﬂé BISEI]

Correct Answer :-

« Sambal Yojana / dd BISEI]

6) In 1931, the Resolution on Fundamental Rights and Economic Programme was adopted at which session of the
Indian National Congress? /

1931 ¥, HRATA IEH H1A9 F forw siftrawr & Aiftre sifter ok wsdta snffes Sl & ywaral &t
STUTIT T T2

1. Calcutta / dAD [
2. Delhi / faeet
3. Karachi / &Y=l

4. Wardha / a4f

Correct Answer :-

« Karachi / BT

7) Madhya Pradesh government has conferred the 2018 National Kalidas Samman to: /

A TN WP GRT 2018 H AP Hiferary TR A food grmfra fosar mar
1. Maisnam Kaminikumar Singh / A Wﬁ:ﬁ@ﬂ g

2. Anjolie Ela Menon / GEnFﬁST’IT e

3. Prabhakar Karekar / JHThR HRBI

4. Haricharan Bhuyan Borbayan / gReRA a4 IRETA

Correct Answer :-



« Anjolie Ela Menon / ol ger g

8) The Lotus Temple in New Delhi is a place of worship for which faith? /
feeeht o fRya waa 6feR (@l T 5 o & srganfal 1 ufas wa @2
1. Zoroastrianism / TR ¢

2. Bahai / 9818

3. Judaism / CIE_QPT o

4. Jainism / S o

Correct Answer :-

« Bahai/ S8TS

9) In 2017, world’s oldest algae fossil was discovered in which part of Madhya Pradesh? /

2017 §, Ae U1 & ha iR A gfran &1 e @R LAara shtarwa @en e
1. Chitrakoot / W

2. Panna / U1
3. Tikamgarh / IHHITG
4. Shahdol / TgSId

Correct Answer :-

« Chitrakoot / foF®T

10) Who is the Chairman of Madhya Pradesh State’s, General Body of Rajya Anand Sansthan? /
HYT YSR IT H I TG TR & A (H1a & a8 $1H 82

1. The Chief Minister of the State / IS & H’@Tﬁﬁﬁ

2. The Chief Secretary of the State / X[ & qJ0 BSIEG]

3. The Governor of the State / TSI

4. The President of India / HRd & Tr&;'tﬁ

Correct Answer :-

« The Chief Minister of the State / T & TRAHAT

11) Who is the author of ‘Deep se Deep Jale’? /
AU AT TA & TR B 82

1. Bhagwan Datt Sharma / HTdT- qal Tt

2. Makhanlal Chaturvedi / RG-S Addat

3. Rahat Indori / XTed E?aﬁ

4. Atal Bihari Vajpayee / 3cd IERRECIS LR

Correct Answer :-



« Makhanlal Chaturvedi / ARG aqdal

12) The agreement on monetary policy framework between Government of India and RBI targets which one of
the following options? /

YR IRBR AR IR & da wifge Hifd ekt w augia w1 Fafafad el 8 3 o9 o vs aga 82
1. Inflation / GERWIfd

2. Unemployment / SRISHTRY

3. Poverty / RIS

4. GDP / SiTSTal

Correct Answer :-

« Inflation / Hi'{l'{[fﬁﬁ

13) Who among the following is known as ‘Metro Man’ of India? /
frafafed 7 9 5 yRa & A # & U | 91 A 82

1. Mr. Vinod Dham / 4t faHig &

2. Mr. E. Sreedharan / &t %%ﬁ?ﬂ_"f

3. Mr. M. Visvesvaraya / ot TH. ﬁ%m

4. Mr. Man Mohan Sharma / & 7 Hig= JA(

Correct Answer :-

« Mr. E. Sreedharan / & %%ﬁ‘iﬂ_"f

14) Barren island, the only active volcano in India is located in: /
N 0, 4HRa A THHE Uihy sararget $ei fRud 22

1. Ritchie’s Archipelago / =t Q(TWI‘L_G'

2. Andaman & Nicobar Islands / 3fSHM 3R AHER m&%’

3. Lakshadweep Islands / &G0 THe

4. Labyrinth Island / afsiy ('J-E’f'ljatﬂ) g

Correct Answer :-

. Andaman & Nicobar Islands / 3fSHM 3R FHER mﬂ:@

15) Charminar is located in which city of India? /
HRA & ¥ e & “aR HAR fR@ 32

1. Agra / 3ITRT

2. Delhi / feedt

3. Bengaluru / Cp [NES
4. Hyderabad / %azla Q



Correct Answer :-

» Hyderabad / %azla qQ

16) Which of the following institutions launched India’s first Integrated Control and Command Centre in Madhya
Pradesh? /

FrafafEa 3 @ frw v 7 9 1w § YR & Uy TPIpd AT SR FHE $5 $T JURY fFan
1. Indian Institute of Science, Education and Research, Bhopal / HRAT ﬁﬁﬂq, fRreq 3R W‘Eﬂ:{ M, wure
2. Indian Institute of Technology, Indore / HRdTT Wit TR, s_caT

3. Bhopal Smart City Development Corporation Ltd. / Hiure e et Saaudic HIuReH fafties

4, Maulana Azad National Institute of Technology / AT 3HTSTE Tl'@'q TN G

Correct Answer :-

« Bhopal Smart City Development Corporation Ltd. / Hioret e Rt Saaudic HraReH fftes

17) Which of the following states has not joint ventured in Banasagar Dam Project? /
VERR Fie o # i § @ @19 91 7Sy Wged 3w T8 82

1. Chattisgarh / EISIEH

2. Madhya Pradesh / H&J LA

3. Bihar / /S8R

4. Uttar Pradesh / SR UG

Correct Answer :-

o Chattisgarh / BTG

18) The Howrah Bridge in West Bengal is built across which of the following rivers? /

uf3 sre A grast foret fpw T w s T g
1. Hooghly / _g"rl?ﬂ

2. Mahanadi / HgTG!

3. Brahmaputra / STeTg"

4, Jamuna / STHAT

Correct Answer :-

« Hooghly / E“Wﬁ

19) The Smart Cities Mission (SCM) was launched in the year _____ ./
e ) fime (aeflum wtad . A= frarmar am

1. 2015

2.2017

3.2018



4,.2014

Correct Answer :-

« 2015

20) The mission aimed at providing shelter equipped with essential services to the urban homeless in a phased
manner is: /

o FRT 31 SERT U S TIPS | U TTR A o1 TS AT3MT T YT UG BT 82
1. National Urban Livelihood Mission (NULM) /
TPt e i e (TgeTH)
2. Heritage City Development and Augmentation Yojana (HRIDAY) /
fargd weR faem SR fawar aie T (geq)
3. North Eastern Region Urban Development Programme (NERUDP) /

JatR &% 631 faeh BrishH (TTS 3RS

4. Atal Mission for Rejuvenation and Urban Transformation (AMRUT) /

3fed TAIHRUT 3R e URac FH=I ()

Correct Answer :-

« National Urban Livelihood Mission (NULM) /
P e STSiifdepT R (TTguaTs)

Topic:- General Hindi

1) F-Srwids s fadd s ars?
1. b
2. ey
3. AibH
4. For

Correct Answer :-

2) IR WL BT - HeTaY &1 o g Ree AP ar
1. 9 Feve ST

2. BIS a7 FITH R IHT N FAHTaT

3. Teb 81 RIM W TS TGl

4. &1 W I HAT HR GAT

Correct Answer :-

. BIs 9] 7 e R IHH1 Y Fbrar



3) 9YMad - I P U FH A I B 7?2
1. 9Td
2. YTaq

3. 9Yad
4. TYTAq

Correct Answer :-

. EI"\’.I'IHF[

4) Y- A FE A A P AT IUE B2
1. FHYRY THN

2. 4 9AN

3. Sgsilie AN

4. fg7 oy

Correct Answer :-
5) 3T- UM A §T VoG A A A P AT 22
1. 3
2. 3R
3. SMTHRTT

4. PRI

Correct Answer :-

o STHRT

6) B - T 7 & | B 1 9 I 2g 32
1. feR
2. R
3.0R
4. f&x

Correct Answer :-

7) Pear- A A AR TT TN e 2
1. PHYRY AT
2.6 U

3. Sgsiife TN



4. fgp 9u g

Correct Answer :-

8) UfHRT T T RITH W1a 71 32
1. fasyr=r

2. 3R v fa

3. YT

4. 3TRAT

Correct Answer :-

. R fowge <fa

9) JHey - & fore w&t AfY fasdg o1 gfw)
1. gH+d Y

2. YH+hAY

3. G+hey

4, JgH+h U

Correct Answer :-

10) fHax - & g T Wiy fassg & gfw)
1. foraR
2. femax
3. g
4. oo

Correct Answer :-

. fomar

11) TO- IS U AT AP E?
1. T

2. S

3. T

4. T

Correct Answer :-



12) ot 91¢ H fUPRI a1 & fed v g Mg A A P AT
1. STRMYBRA
2. SRIYBRY
3. SWRIYDBRI
4, JURMYBRI

Correct Answer :-

13) ‘R B IIR RT3 & R s T P A AP ATR?
1. 33U

2. IH M

3. 3B

4. 3FTHTT

Correct Answer :-

14) HTHT F 1T T yafgarh ard =gl ¥} ufds &) g1
1. 3T, e, FA|
2. 3T, HlgH, AT |
3. 3T, HeH, TS|
4. ST, HEA, A

Correct Answer :-

« 3T, HeH, A |

15) gl Tty g wefa, siffaf o auerfa

AR gerafa $R &%, omt smafa wifa | - A PE A AP AT R
1. YA

2. Yfda |

3. I 3

4. PR T

Correct Answer :-

. YR

16) W & forg A vataardt arat 2egt 1 ufaa ot g |
1. e, fFAdad, 18|

2. e, FAddq, 181



3. 9&d, Foead, T8
4. 914, AdsaH, 18|

Correct Answer :-

. g, Fdad, 181

17) - I A NI U AP w32
1. 3

2. 3T

3. 3ifag

4.3cd

Correct Answer :-

18) HHUI - BT 719 & | DI A1 a1 faaa g 32
1. IR
2. g
3. fAsR
4. PR

Correct Answer :-

19) 39 HHUN Hfd ged |,

w0 fawe AR ot - & e & @ i an seeR 32
1. XAV ABR

2. AP AABR

3. U 3(TDR

4. JUHT 3APR

Correct Answer :-
. 3IUTY 3fBR

20) fQ gued Ut F1, BTE! =Tef BTE|

-H e & A I 9T e R 37

1. Y DR

2. gHD ABR

3. 3V 3(TDR

4, SUHT 3[ABR



Correct Answer :-

Topic:- General English

1) Choose appropriate articles for the given sentence:

I enjoy reading comics in Times of India, English daily newspaper that
was first published in 1838.

1.the, the, a

2.3, the, a

3. the, the, an

4. the, a, the

Correct Answer :-

+ the, the, an

2) Choose the correct form of modal auxiliary verb for the given sentence:
Allofus____ plan to go for a holiday when we get a long weekend off.
1. would

2. need

3. should

4. used to

Correct Answer :-

« should

3) Choose the option that correctly sequences the following sentences:

. Some of them are bigger than houses.

. Ships sailing near southern New Zealand have been warned of icebergs.

. One iceberg, reported by a fishing boat was 200 metres long and 50 metres high.
. They are found mostly near South Island's east coast.

B W N =

1. 1234
2.2134
3.4231
4.4312

Correct Answer :-

. 2134

4) Choose the correctly punctuated sentence:



1. India, celebrates its Independence Day: on 15 August every year.
2. India celebrates its Independence Day on 15 August every year.

3. India celebrates, its independence day on 15 august every year!
4. India celebrates: its Independence Day on 15 August every year.

Correct Answer :-

« India celebrates its Independence Day on 15 August every year.

5) Choose the option that best explains the highlighted expression:

The new rules in the country give businesses a leg up to face competition from other countries.
1. illegal sanctions

2. hindrance

3. assistance

4. a blanket right

Correct Answer :-

» assistance

6) Choose the appropriate conjunction for the given sentence:

he was the best candidate, he did not win the elections.
1. And
2. But
3. If

4. Though

Correct Answer :-

7) Choose the word that is opposite in meaning to the highlighted word given below:
I always postpone the evil day when I have to visit the dentist.

1. suspend

2. defer

3. respite

4, hasten

Correct Answer :-

o hasten

8) Choose the appropriate prepositions for the given sentence:

Each year, thousands ___ people suffer life-threatening diseases.



1. among, out of
2. across, of

3. of, from

4. of, against
Correct Answer :-
« of, from

9) Spot the error in the given sentence and choose the option that rectifies it.
One of my best friend is a witch.

1. One of my best friend are witch.

2. One of my best friend is a witches.
3. One of my best friends are witch.
4. One of my best friends is a witch.

Correct Answer :-

« One of my best friends is a witch.

10) Choose the appropriate option that changes the given sentence into passive voice.
When will you return the book?

1. The book will be returned by you.

2. The book will be returned by you when?

3. When will you return?

4. When will the book be returned?

Correct Answer :-
¢ When will the book be returned?

11) Choose the appropriate option that rewrites the given sentence in active voice.
My pocket has been picked.

1. Someone has picked my pocket.

2. Someone has pocked the pick.

3. Someone has pick pocketed my pocket.

4. Someone has picked pocketed me.

Correct Answer :-

» Someone has picked my pocket.

12) Choose the appropriate form of the tense for the given sentence.

By the time they the station, the train



1. reached, had left

2. reach, left

3. had reached, left

4. had reached, had left

Correct Answer :-

« reached, had left

13) Choose the appropriate form of the tense for the given sentence.

These grapes sour.

1. is tasting
2. was taste
3. taste

4, tastes

Correct Answer :-

* taste

14) Choose the appropriate prepositional phrase to complete the given sentence.

__your request, we regret to inform you that it is not possible.
1. With regard to

2. With regards to

3. By regard to

4. By regards to

Correct Answer :-
« With regard to

15) Choose the most suitable determiner for the given sentence:

When John returned from school, _____ did he know that there was going to be a birthday party at home.
1. little

2. alittle

3. much

4. less

Correct Answer :-
o little

16) Choose the option with the appropriate prefix to complete the given sentence.

The cricket player ___timed hitting the ball. It flew over his head and reached the boundary ropes.

1. mis-



2. un-
3. dis-
4. mal-

Correct Answer :-

o mis-

17) Choose the option that best transforms the given sentences into one using an adverb:
The lights went out. The meeting had not ended.

1. Before the meeting ended the lights were going out.

2. The lights were going out while the meeting was ending.

3. The lights went out at the end of the meeting.

4. The lights went out before the end of the meeting.

Correct Answer :-

« The lights went out before the end of the meeting.

18) Choose the correct form of verb that is in agreement with the subject:

Every year in our school, the children who well in the final exams, awarded prizes during the Annual Day.

1. were performed, is
2. will perform, are
3. performs, has

4. perform, are

Correct Answer :-

o perform, are

19) Choose the correct form of the verb from the following options in the given sentence:
My mother from service three years ago.

1. retiring

2. retired

3. retire

4. retires

Correct Answer :-

« retired

20) Choose appropriate articles for the given sentence:

The environment of earth is great blessing for mankind.

1. an, the



2.3, the
3. the, the

4. the, a

Correct Answer :-

Topic:- General Mathematics

1) A bullock cart is moving at a uniform speed of 16 km/hr. Find the time required to travel 356 km? /

g%wnsﬁmﬁnﬂﬁiaaﬁwmﬁmﬁenﬁwaﬁél356%1ﬂwmﬁ%?ﬁrqwmm

1. 21 hours 70 minutes / 21 ©¢ 70 fiFe
2.22 hours 15 minutes / 22 °¢ 15 e
3. 22 hours 55 minutes / 22 ¥¢ 55 fiFe
4. 22 hours 25 minutes / 22 ¥¢ 25 e

Correct Answer :-

« 22 hours 15 minutes / 22 H¢ 15 fiAe

2) The distance of a point ( -6,-1) from y-axis is: /
y-31&f & fdg (-6,-1) P g &:

1.2

2.1

3.5

4.6

Correct Answer :-

3) How many candy bars are there in a sack of 4 kg, if a candy bar weighs 40g? /

gfe TP HI IR T a9 40 T 8 a1 4 fpat & A ¥ fpa-il Far gift
1. 40
2. 200
3. 400

4. 100

Correct Answer :-

« 100

4) If a whale shark swims at a speed of 5 km per hour, then how much distance does it travel in 3 hr? /

e U R 2reh ufay 6 5 foreht Y =rer & Qe &, o 9% 3 o # fpait g qu w2



1. 10 km / 10 fobit
2.50 km / 50 fop et
3. 15 km / 15 fobeit
4.30 km / 30 fosrit

Correct Answer :-

« 15 km/ 15 fpeh

5) Pretty travels 40% of her journey by foot and the rest by bus. If she has to travel a distance of 80 km, then find
the distance she travels by bus. /

i 3ra=it ar BT 40% Yed 3R AT 9 GRT a4 Hedt ¢ | Al 3 80 fomft 3t gt aa F-1 7, 01 I9F gRT
9 9 31 T G B g 1 B

1. 48 km / 48 Tt
2.72 km/ 72 forrit
3. 60 km / 60 farrit
4,32 km /32 fooult

Correct Answer :-

. 48 km /48 fbHt

6) If an apple is used to represent 50 students in a class, then how many apples are required to represent 225
students? /

Ife T F&T A 50 B B1 Ufaffia $1 F fore v A9 &1 U fvar sirar 8, at 225 S &1 ufafafia
Y1 & fore fra Ta) &t smazadar gif?

1.4.75
2.4.25
3.4

4.4.5

Correct Answer :-
« 45

7) A packet contains 14 containers. One container contains 8 capsules. If there are 23520 capsules, then how many
packets are needed for packing capsules in the container? /

TP Ube N 14 U B 1 U U A 8 Soga 21 afe ot 23520 FRIA 8, a9 U § g U B & fore fovaq
AP el B raRgHar gift?

1. 110
2.210
3.201

4. 2440

Correct Answer :-



8) What will be the unit’s digit in cube of 69853? /
69853 & G- W SHTS BT 3P FT gRI?

1.9

2.7

3.3

4.1

Correct Answer :-

9) Choose the correct equation with variable. /
W Afed Tg THHRT ST 799 DR

1.30%< 140

- > 68

3+42(x—1)=0

4 3x+ 120 < 180

Correct Answer :-

342(x—-1)=0

10) For which value of Kk, the system of linear equations 2x + 3y =2k and 5x + Ky = -2 has a unique solution? /

k ¥ 5T A & fore, e THiieor gomelt 2x + 3y =2k Td 5x + ky = -2 F Mg ga g?

e
1. 2

2, k=4
3 k=8

13

4.

Correct Answer :-

11) If M is the midpoint between - 4 and 2, then write the integer for M? /
afe M, - 4 3R 2 & fiu ve quafag 8, 9t M & fog quifes ford

1. -1



3.0

4.1

Correct Answer :-

12) Find the square root of 23.04. /
23.04 BT TS FTd B |

1. 4.8

2.0.42

3.48.02

4.2.2

Correct Answer :-

13) Which of the following pair of integers has their difference as -5? /
Uit @t fraferfaa sifeal & @ feaer e 5 82

1.-2,7

2. 6,11

3. 7,-2

4,-3,-2

Correct Answer :-

14 1
) The area of a parallelogram is 104 cm*and the height corresponding to a base is 8 cm. Find the

perimeter if the other baseis 9 cm. /
T FAWTIR TS &1 aFha 104 A § 3R 3uR F aeger a8 #9 8
saehr gRTE AT #, afg 3= 3= 9 Fr &

1. 48 cm / 48 QT
2.54 cm / 54 HY
3. 56 cm / 56 I
4. 44 cm / 44 T4

Correct Answer :-

. 44 cm /44 9



Which of the following is the coefficient of x in 6xy? -117 /
fTafafaa & & &l 67 -11 F x &7 oS 872

1. 6y

2
16) A drum is ; full. If 50 litres more are required to fill it up. then determine the capacity of the drum. /

WEF% 3T G3T §1 ARG 39 &1 oRer & foIw 3R 3ifde 50 ofex &1 aedshar g, a9
A &1 atEar FERa #:3

1. 331.3 litres / 331.3 TIeR

2. 200 litres / 200 T

3. 150 litres / 150 TR

?Htres f %P‘ﬂ?{

4.

Correct Answer :-

e 150 litres / 150 5‘“3?

=
1B

W
=1 |t

- jw

4.

Correct Answer :-



A_ B and C are three numbers. B is é of A. Cis 75 which is 30 more than A. Find B. [

A, Baa:r(:?ﬁ?rmﬁ%memgem C=75% % A9 30 3% 31B o
F

1. 15

2.45

3.30

4,25

Correct Answer :-

« 15

19) Expand / fa¥dr $ifSe:
(3x — 2y)?

) 9x 2 4+4y? + 12xy
5 9x? — 4y? + 12xy

3 9x? + 4y —12xy

9x? — 4y? — 12xy

Correct Answer :-

Ox? 4+ 4y? — 12xy

20) axaXaxXbxbXb canbe expressed as: /
aXxaxXaxbxbxb@l 57 39 & 3fHcaad & TFd ¢

1 3ah

bi.a
Z.Eb

3, (ab)?

4, (@bP™

Correct Answer :-
. (ab)?

Topic:- General Science

1) When we lift a bucket of water, the force acting on the object is: /
SIq §H T U ¥ U TS a1et Y ST §, ) 9%g W PRIRG 99 gl &
1. Frictional force /'Elﬁ'UTEIT'[

2. Muscular force / U= oa



3. Electrostatic force / fRIR 3ggd
4. Magnetic force /Waﬁ

Correct Answer :-

e Muscular force /ﬁ?ﬂnaa

2) Which of the following is a vector-borne disease? /
frfafeEa § @ o1 W furd Te sider IR Qe 9 f5dte) 82
1. Cholera / BT

2. AIDS / TgH

3. Malaria / TR

4. Tuberculosis / TUfG® (Wﬁﬂ)
Correct Answer :-

« Malaria /Ilaf\"{ﬂ

3) Which of the following structures has the information for the next generation? /
frafafEa o @ for Tearet & ure spTeft fidt & e s 82
1. DNA/ g U

2. RNA / 3RTAT
3. Protein /m—cpf:f

4. Nucleus /QT&W

Correct Answer :-

. DNA/SITAT

4) The strong and non-flexible connective tissue is ./
aogd R IR-adenwaei Saw @1

1. tendon / BT (S8)

2. cartilage / SUTRY (HTieroN)

3. bone / TS (A1)

4. ligament / @Y (ferTHC)

Correct Answer :-

. bone/Bgf(T!ﬁ:D

5) is an unwanted plant in a cultivated field which competes with the main crop for nutrients, shelter and
sunlight. /

TP Wit Ay &7 § 3raifevd MYt 31 T8 TV ddl, Sy 3R IRl B A3+ & fore g7 wvaa &
a1y ufeeayf war g1

1. weed / WRUJdR




2. field pest/fla Tt Ple
3. storage pest / HERU DI
4, crop / I

Correct Answer :-

o weed / WUJIR

6) Calculate the number of atoms in 16g of He? [Atomic mass of He = 4.0u] /

He & 16 ITH H TRHTU[SAT D1 JWAT BT VT B2 [He BT URHTY] FSTH = 4.0u]
1. 24.09 x 10%8

7. 6.02x 107

3, 1.505 x 10

4. 16 X 6.02 x 10%

Correct Answer :-

. 24.09 x 107

7) The nucleus of an atom was discovered by: /

TP UMY & ATFHS B Wil 395 gRT 1Y of:

1. J.J. Thomson’s experiment / SO, YIS 9anT

2. Chadwick’s experiment / ESICERBIN

3. Rutherford’s gold foil experiment / YEIPTS T WUl Ui YA
4. Millikan’s oil drop experiment / fhferer @1 da sﬁ'tr T

Correct Answer :-

« Rutherford’s gold foil experiment / YRBTS BT Xquf goft g

8) The chemical formula of rust is: /
ST BT A TS I

1. FeClz

2. FeD

3. Fei04

4, FEED}

Correct Answer :-

9) The length of a match box is measured by placing it on the metre scale. If one end is on 25.7 cm and other end is
on 29.2 cm, then the actual length of the match box is: /



T A ot fSfaan a1 darg, dex & 30 oR ¥@ &7 Ardt ardt 31 afe T RRT 25,7 It w3 SR vt
29.2 Tt R B, At wifey @ 3T 9t arafas @ars g

1.2.5cm/2.5 94t
2.3.5cm/3.5 9
3.25.7 cm/25.7 9
4.29.2 cm/29.2 QI

Correct Answer :-

.« 3.5cm/3.59H

10) The houses having outer walls made with hollow bricks will: /

GrEd! €1 A 7 a1t far) ard w:

1. be cheaper / T Bﬁﬁ %I

2. trap the air and keep the rooms cooler in summer / gdl B BT % 3R T & SR B ST 7@d %I
3. get easily dismantle / Mgt ¥ fagfed €3f STd %I

4. be stronger enough / e Holgd E?I?f %l

Correct Answer :-

« trap the air and keep the rooms cooler in summer / g4l B AT % 3R TfHfal # R Y d8T Tad %I

11) If an object is placed in front of a plane mirror at a distance of 10 cm from it, then the image formed will be: /
g U a¥g, FHAH GUUT & HIFA I 10 TH B gt wR 36 9rdt g, Ffdfa ufafda g

1. 20 cm behind the object / & o YTy 20 Tt

2. 20 em behind the mirror / YU & UTes 20 T4t

3. 10 cm behind the object / 9] & Ule 10 94t

4. 10 cm behind the mirror / GUUT & Uiy 10 Tt

Correct Answer :-

« 10 cm behind the mirror / EQCUT & Ut 10 I

12) Yeast is used for commercial production of alcohol and wine. To which category of microorganisms does it
belong? /

@ﬁ?ms?ﬂmaﬁvam%m%m%mmm%lﬁ&mﬁﬁaﬁm%ﬁﬁw
Y TGl 3?2

1. Fungi / hddh

2. Bacteria / \_SﬂaTUl

3. Protozoa / Eﬁ'cpl\_rﬁ&ﬂ
4. Algae / ﬁam

Correct Answer :-

o Fungi / hddH



13) An electric bell is placed inside a bell jar which is closed air tight. If the bell is ringing and the air is slowly
removed with the help of a vacuum pump, then: /

T fagga U1 o U 9 9IR & SigR @1 7491 Sl §a16g ¢ | af 9¢t a9 ¥81 8 3k arg o IR-9R v frafa
U9 B} Heg A gel faar wmar g, ot

1. The amplitude of vibration of the air column decreases / 84l TAH P HUT BT HITH gedl %I
2. The number of vibration of the air column decreases / 8dl ¥dH & HYT Pl T geadl %I

3. The number of vibration of the striker decreases / ISP & HUA DI G gt B

4. The number of vibration of the striker increases / ¥¢IgH Y & HUT Bl T aa‘cﬁ %l

Correct Answer :-

« The amplitude of vibration of the air column decreases / Gl TAH P HUT BT AT gedl %I

14) Milk of magnesia is used as: /

fore oife AU H1 IUART §9 wu H fpar sirar 3:
1. Dye in textile industry / PUSI IANTH %

2. Artificial sweetener / ?ﬁq HA

3. Fertilizer / SaR&b

4. Antacid / AT dARID

Correct Answer :-

« Antacid / IRIdIARID

15) In the earthquake zone, the type of buildings which gives more safety are: /
Y &7 #, fFg TR Bt ARG e FR&rm e Bl §:

1. Earthquake proof buildings / Wiﬁ S‘H’Rﬁ

2. Multistoried buildings / SgHISTE ARG

3. Buildings made of clay and mud / &I@of 3R U J &t 3'5”??[

4. Buildings made of glass and bricks / HIa 3R g—a KRl 37:”??{

Correct Answer :-

« Earthquake proof buildings / Wiﬁ ARG

16) Which of the following is a chemical change? /

frafafea 9 & #1991 v e tRada ¢

1. Evaporation of sea water to get salt / TH® UTd P & forg B3Rt & U T AR
2. Burning of methane / PR CARSNRI]

3. Sublimation of camphor / HYI BT IWGUTT

4. Dissolving sugar in coffee / B! | o T



Correct Answer :-

« Burning of methane / EREEARE R

17) Which of the following testers is less sensitive? /
Frafafaa & @ $19 a1 2R o0 Haesia giar 32
1. A tester in which LED is used. /
T e Ford was st 1 v b e g1
2. A tester in which a magnetic compass is used. /
T X RO U Jeab g g (FFAifeds i) BT SUGNT 3 SiTaT B |
3. A tester in which a high watt heating filament is used. /
T %R Ford e I dTe a1 o (&1 ftramie) o1 vt fasar S ]

4. A tester in which low watt bulb is used. /

T %X FrGH &1 d1e & Fesl BT SUTNT a1 ST B

Correct Answer :-

A tester in which a high watt heating filament is used. /

T %R Forad U I dTe a1 g (@1 frartie) o1 ot fasar S g1

18) Which of the following weighs the most? [ Atomic masses: Ag=108 u,C=12u,0=16u, N=14u] /
fFrafafEa & & feaer ao aa iR 82 [ URHTY SoaHT: Ag=108u, C=12u,0=16u,N=14 u]
1. 1g of carbon / 1 TTH HTe

2. 0.5 mole of N-atoms / N—m\ﬁ & 0.5 3

3 10%% atoms of silver / Tad & 103 AT

4 1022 melecules of CO2 molecules / CO2 3-]'0;[.315[ & 102 Y

Correct Answer :-

10%? atoms of silver / Tad & 103 AT

19) To determine the melting point of ice, a thermometer is suspended in a beaker half filled with ice and kept at
the room temperature. Which thermometer reading should be noted as the melting point of ice? /

T F T B iy $37 & fore, v yufier F o @ end W ¢ ve fiww & s1a faar wmar @ $iv
P S dYHE R 74 fear wirdr 21 fora yuiiier HfEn & a6 & oo & wu A forg a=m afige?

1. The temperature when all the ice taken melts and water remains. /
YA, S ot TS O 5 e ot ¥ ok T R X8 Sar 1
2. The temperature when the ice just starts to melt. /

A, ST S0 forere T IR= gt 81

3. When the mercury level in the thermometer remains constant at a particular temperature. /



S U faRiy arqH R yHftie # URe &1 TR RR BT |

When the temperature just begins to increase from —2°C. [

, 9 ATHE -2C & Fea IF Bl G

Correct Answer :-

o When the mercury level in the thermometer remains constant at a particular temperature. /

e U IR dIUH TR yHiHeR § URE $1 &R RR T

20) Green plants use which of the following to prepare food? /

YIS R $1 & fore g 1Y A § | fpgeT Sy #vd 82

1. Carbon dioxide, nitrate, phosphate and sunlight / CACE 31_5'317<1HI$6, Algcc, Hlabe 3R @W PEIRY

2. Carbon dioxide, water, minerals and sunlight / CACE] S'Ig&f\faﬂf%_é, 13|'|7‘ﬁ, @il 3R ﬂ}fﬁ b1
3. Oxygen, carbohydrates and sunlight / IENITES , W@T@E@? 3R ﬂ:&fﬁ UBIRI
4. Oxygen, nitrate, sulphate and sunlight / Glmﬁq, L 323, Jethe 3R ﬁﬁaﬂ UDIRA

Correct Answer :-

« Carbon dioxide, water, minerals and sunlight / CACE @gm, tﬂ:ﬁ, @il 3R @W UhIR



